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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 26  Total No. of Pages: 12 

gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018    

100 
fo"k; %fo"k; %fo"k; %fo"k; % xf.kr xf.kr xf.kr xf.kr     

Subject: MATHEMATICS  

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

ffffunsZ’k%& unsZ’k%& unsZ’k%& unsZ’k%&         

    (i)    lHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSaa aaAAAA    

    (ii)    iz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u gSAiz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u gSAiz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u gSAiz’u Øekad 1 ls 5 rd oLrqfu"B izdkj ds iz’u gSA    

    (iii)    iz’u Øekad 6 ls 26 esa vkarfjd fodYi fn;s x;s gSAiz’u Øekad 6 ls 26 esa vkarfjd fodYi fn;s x;s gSAiz’u Øekad 6 ls 26 esa vkarfjd fodYi fn;s x;s gSAiz’u Øekad 6 ls 26 esa vkarfjd fodYi fn;s x;s gSA    

    (iv)    tgk¡ vko’;d gks ogk¡ LoPN o ukekafdr fp= cukb;sAtgk¡ vko’;d gks ogk¡ LoPN o ukekafdr fp= cukb;sAtgk¡ vko’;d gks ogk¡ LoPN o ukekafdr fp= cukb;sAtgk¡ vko’;d gks ogk¡ LoPN o ukekafdr fp= cukb;sA        

Instructions: 

 (i) All questions are compulsory. 

 (ii) Questions No. 1 to 5 are objective type questions. 

 (iii) Internal options are given in question number 6 to 26. 

 (iv) Draw neat and clean labelled diagrams wherever required. 
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iz-1 Lkgh fodYi pqudj viuh mÙkj iqfLrdk esa fyf[k,& 

(i) tc 
2

1

2

1

b

b

a

a
≠ ] rks lehdj.k fudk; 0cybxa 111 =++ rFkk 

 0cybxa 222 =++  

 (a) ds nks gy gksaxsa   

 (b) dk dksbZ gy ugha gksxk 
 (c) ds vuUrr% vusd gy gksaxsa  

 (d) dk vf}rh; gy gksxk  

¼1¼1¼1¼1××××5555====5555½½½½    

 (ii) nks la[;kvks dk ;ksx 40 ,oa varj 20 gS rc la[;k;s gksaxh& 

 (a) 29, 11   (b) 32, 8 

 (c) 30, 10   (d) 20,20 

 

 
(iii) ;fn 

1x

1
P

+
=  vkSj  

1x

1x
Q

2

−

−
=  rc P. Q dk eku gS& 

 (a) x+1    (b) x 

 (c) x-1    (d) x2-1 

 

 (iv) x2x2 −  ds 'kwU;d gS& ‘ 

 (a) - 2, 0   (b) 2, - 2 

 (c) 0, 2    (d) 1, 2 

 

 (v) 9] 12 dk r`rh;kuqikrh gS& 

 (a) 36     (b) 63  

 (c) 
4

27
    (d) 16 

 

 Choose the correct option and write it in your answer book- 

(i) When
2

1

2

1

b

b

a

a
≠  ,then the system of equations   

 0cybxa 111 =++     and  0cybxa 222 =++  

 (a) Has two solutions  

 (b) Has no solution 

 (c) Has infinitely solutions 

 (d) Has unique solution 

 

 (ii) The sum of two numbers is 40 and difference is 20. Then 

 the number-  

 (a) 29, 11   (b) 32, 8 

 (c) 30, 10   (d) 20, 20 
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(iii) If  

1x

1
P

+
=   and  

1x

1x
Q

2

−

−
=  Then value of P.Q is- 

 (a) x+1    (b) x 

 (c) x-1    (d) x2-1 

 

 (iv) Zeroes of  x2-2x is-  

 (a) -2, 0    (b) 2, - 2 

 (c) 0, 2    (d) 1, 2 

 

 (v) Third proportional to 9, and 12- 

 (a) 36     (b) 63  

 (c) 
4

27
    (d) 16 

 

iz-2 fjDr LFkkuks dh iwfrZ dhft,&      

(i) og lehdj.k ftlesa vKkr jkf’k dh vf/kdre ?kkr nks gks-------------------

lehdj.k dgykrk gSA 

(ii) ?klkjs dh nj lnSo-----------------------gksrh gSA 

(iii) ;fn nks f=Hkqtks ds laxr dks.k leku gks rks os f=Hkqt------------------- gksaxsaA 

(iv) fdlh oÙ̀k ds ckº; fonqa ls [khaph xbZ nks Li’kZ js[kk;sa---------------gksrh gSA 

(v) ,d ?ku ds fod.kZ dh yackbZ 312  lseh gS ?ku dh dksj dh yackbZ

 ----------------------------------gksxhA 

¼1¼1¼1¼1××××5555====5½5½5½5½    

 Fill in the blanks-    

(i) An equation of degree 2 is called………………….. 

(ii) The rate of depreciation is always…………………. 

(iii) If the corresponding angles of two triangles are equal, 

then the triangles are……………………………….. 

(iv) The length of two tangents drawn from an external point 

to a circle are……………………………………….. 

(v) The diagonal of a cube is 312  cm. Than the length of 

edge of the cube is…………………………. ……. 
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iz-3 fuEufyf[kr esa lR;@vlR; dFku fyf[k,&      

(i) lsok dj vizR;{k dj gSA 

(ii) o`Ùk dh leku thok, dsUnz ij leku dks.k cukrh gSA 

(iii) 7] 8] 9 dk lekarj ek/; 9 gSA 

(iv) rhu valjs[k fcanqvks ls gksdj ,d vkSj dsoy ,d o`Ùk tkrk gSA 

(v) ;fn ehukj dh Å¡pkbZ ,oa mldh Nk;k dh yackbZ leku gks rks lw;Z 

ds mUu;u dks.k dk eku 30° gksxkA     

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write True/False in the following-   

(i) Service tax is a Indirect tax. 

(ii) In a circle Equal chords subtend equal angles at the 

 centre. 

(iii) Arithmetic mean of 7, 8, 9, is 9. 

(iv) There is one and only one circle passing through three 

 non collinear point. 

(v) The angle of elevation of the sun is 30°, when the length 

 of the shadow of a tower is equal to its height. 

 

iz-4 Lkgh tksM+h cukvks& 
 LrEHk ^v^        LrEHk ^c^ 

(i) °° + 25 cos  25 sin 22   (a)   
2

3  

(ii) 
θ

θ

sin

cos
    (b)    sinθ 

(iii) cosec (90-θ)   (c)     1 

(iv) sin 60°    (d)    
2

1
  

(v) θ− 2cos1    (e)     secθ 

      (f)      cotθ 

      (g)     tanθ 

¼1¼1¼1¼1××××5555====5½5½5½5½ 
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 Match the column- 

 Column ‘A’    Column ‘B’ 

(i) °° + 25 cos  25 sin 22   (a)   
2

3  

(ii) 
θ

θ

sin

cos
    (b)    sinθ 

(iii) cosec (90-θ)   (c)    1 

(iv) sin 60°    (d)   
2

1
  

(v) θ− 2cos1    (e)    secθ 

      (f)     cotθ 

               (g)      tanθ 

 

iz-5 izR;sd dk ,d 'kCn@ okD; esa mÙkj fyf[k,& 
(i) f’k{kk midj dh orZeku nj fdruh gS\ 
(ii) ikbFkkxksjl izes; dk dFku fyf[k,A 
(iii) ,d oÙ̀k dh f=T;k 7 lseh gS] mldk {ks=Qy D;k gksxk\ 
(iv) ,d ?ku dh Hkqtk 12 lseh gS] ?ku ds fod.kZ dh yackbZ D;k gksxh\ 
(v) fuEu izs{k.kks ds cgqyd dk eku fy[kks& 
 2] 3] 4] 2] 12] 9] 7] 8] 9] 6] 9] 5] 9 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Answer each of  the following in one word/sentences-    

(i) Education cess rate in current Assessment year. 

(ii) Write the statement of Pythagoras theorem. 

(iii) If radius of circle 7 cm. Then finds the area of circle. 

(iv) The edge of a cube is 12 cm. Find the length of diagonal 

of cube. 

(v) Find the mode of the following data- 

 2, 3, 4, 2, 12, 9, 7, 8, 9, 6, 9, 5, 9 

 

iz-6 FksYl izes; dk dFku fyf[k;sA      
Write the statement of Thales Theorem.    

vFkokvFkokvFkokvFkok@@@@OR 

dks.k&dks.k] dks.k le:irk xq.k/keZ dks fyf[k;sA         
Write the statement of Angle-Angle, Angle similarity property. 

¼2½¼2½¼2½¼2½ 
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iz-7 uhps fn;s x;s fp= esa DEIIBC ;fn 
5

3

DB

AD
=   rFkk Hkqtk AC=6cm. rks 

Hkqtk AE dk eku Kkr djksA  
 
 
 
 
 
  
    

In given figure DEIIBC if  
5

3

DB

AD
=  and side AC=6cm. Find AE. 

 
    
 
    
    
 

¼2½¼2½¼2½¼2½ 

 vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd 8 lseh] 15 lseh rFkk 17 lseh ledks.k f=Hkqt dh Hkqtk;s 

gSA vkSj dkSulh Hkqtk 90˚ ds foijhr gSA             

Find the sides 8cm, 15cm, and 17cm, are the sides of right 

angle triangle and which side is opposite to 90˚. 

    

iz-8 le:Ik ,oa le:irk dk D;k vFkZ gS\      
What is the meaning of similar and similarity?    

vFkokvFkokvFkokvFkok@@@@OR 

nks f=Hkqtks esa Hkqtkvksa rFkk dks.k ds eki fuEukuqlkj gSa] fn[kkb, fd& 
 ∆ABC,  ∆PQR ds le:Ik gS ;k ugha&  

 AB=4cm.  AC=5cm.  ∠ A=60° 

 PQ=6cm.  PR=7.5cm. ∠ P=60°    

In two triangles, the measures of sides and angles are as 

follows. Show  ∆ABC and ∆PQR are similar or not- 

 AB=4cm.  AC=5cm.  ∠ A=60° 

 PQ=6cm.  PR=7.5cm. ∠ P=60°  

¼2½¼2½¼2½¼2½ 

A

D E

B C

A

D E

B C
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iz-9 10 eksVj lkbfdy lokjksa dh xfr fdyksehVj@?kaVk esa fjdkMZ dh x;h tks 
fuEufyf[kr gS& 
mijksDr vkadMks ls ek/; Kkr djks& 
47, 53, 49, 60, 39, 42, 53, 52, 53, 55 

The following are the speed in km/h of 10 motor cyclists. 

Find the mean- 

47, 53, 49, 60, 39, 42, 53, 52, 53, 55    

vFkokvFkokvFkokvFkok@@@@OR 

ekf/;dk dh nks fo’ks"krk,sa fyf[k;sA         
Write any two merits of median. 

¼2½¼2½¼2½¼2½ 

iz-10 ,d ikals dks mNkyus ij fo"ke vad vkus dh izkf;drk Kkr djksA      
Find the probability that an odd number turns up in a single 

throw of a dice.    
vFkokvFkokvFkokvFkok@@@@OR 

;fn dy cjlkr gksus dh izkf;drk 
3

2
    gS rks dy cjlkr u gksus dh 

izkf;drk Kkr dhft,A             

If the probability of raining tomorrow is  
3

2
 then what will be the 

probability of not raining tomorrow. 

¼2½¼2½¼2½¼2½ 

iz-11 nh xbZ vkd`fr esa x vkSj y dk eku Kkr djksA      
In the figure. Find x and y. 

  

 

   

 

    

    

vFkokvFkokvFkokvFkok@@@@OR 

fl) djks fd o`Ùk dh leku thok, dsUnz ij leku dks.k cukrh gSA         

Prove that, Equal chords subtend equal angles at the center. 

¼3¼3¼3¼3½½½½ 

A

D

C

B

°+ 10x2

°+ 4x2

°+ 50y5

°− 4y4
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iz-12 fl) djks fd o`Ùk ds dsUnz ls thok ij Mkyk x;k yEc mls lef}Hkkftr 

djrk gSA     

Prove that the perpendicular from the centre of a circle to a 

chord bisects the chord.     

vFkokvFkokvFkokvFkok@@@@OR 

;fn o`Ùk dh thok dh yackbZ 30 lseh gSA thok oÙ̀k ds dsUnz ls 8 lseh dh 

nwjh ij gS rks o`Ùk dh f=T;k Kkr djksA      

A chord of length 30cm, is drawn at a distance of 8cm. From 

the centre of the circle. Find the radius of the circle.  

¼3¼3¼3¼3½½½½ 

iz-13 15, 35,18, 26,19, 25, 29, 20, 27 dh ekf/;dk Kkr djksA      

Find the median of the following values of variate 15, 35, 18, 

26, 19, 25, 29, 20, 27.     

vFkokvFkokvFkokvFkok@@@@OR 

fuokZg [kpZ lwpdkad ds dksbZ rhu mi;ksx fyf[k,sA 

Write three use of cost of living index number.  

¼3¼3¼3¼3½½½½ 

iz-14 fuEufyf[kr ckjackjrk caVu dk cgqyd Kkr djks& 
 
oxZ varjky 0-20 20-40 40-60 60-80 80-100 

ckjackjrk  10 17 26 22 15 

 

Find the mode of the following frequency table.  

Class interval  0-20 20-40 40-60 60-80 80-100 

Frequency  10 17 26 22 15 

vFkokvFkokvFkokvFkok@@@@OR 

,d ikals dks Qsadus ij 4 ls cM+k vad vkus dh izkf;dkrk Kkr djksA         
Find the probability of getting a number greater than 4 in a 

single throw of a dice.  

¼3¼3¼3¼3½½½½ 
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iz-15 fuEu lehdj.k fudk; dks gy dhft, & 
 3x + 2y =11 

 2x + 3y = 4    
Solve the following system of equation - 

 3x + 2y =11 

 2x + 3y = 4    
vFkokvFkokvFkokvFkok@@@@OR 

m ds os eku Kkr dhft, ftuds fy, fudk; 
 2x + my – 4 = 0 

 3x – 7y – 10 = 0 dk  
(i)  ,d vf}rh; gy gks  
(ii)  dksbZ Hkh gy u gks 
Find those values of m 

 2x + my – 4 = 0 

 3x – 7y – 10 = 0 

For which 

(i)  there is unique solution 

(ii)  there is no solution.  

¼4¼4¼4¼4½½½½ 

iz-16 nks la[;kvksa dk ;ksx 80 gS rFkk igyh la[;k nwljh ls 20 vf/kd gS 

la[;k, Kkr djks A     

The sum of two numbers is 80 and the first number is 20 more 

than the second. Find the numbers.    

vFkokvFkokvFkokvFkok@@@@OR 

;fn 2 dqlhZ rFkk 3 estks dk ewY; 800 `gS vkSj 4 dqlhZ rFkk 3 estks dk 

ewY; 1000 ` gS rks 2 dqlhZ rFkk 2 estks dk ewY; Kkr djksA         

The cost of 2 chairs and 3 tables is ` 800 and the cost of 4 

chairs and 3 tables is `1000. Find the cost of 2 tables and 2 

chairs.  

¼4¼4¼4¼4½½½½ 
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iz-17 ;fn 
b  a

z
  

a c 

y
  

c  b

x

+
=

+
=

+
 rks fl) dhft, fd  

 (b - c) x + (c - a) y + (a - b) z = 0  

if 
b  a

z
  

a c 

y
  

c  b

x

+
=

+
=

+
 the prove that  

 (b - c) x + (c - a) y + (a - b) z = 0    
vFkokvFkokvFkokvFkok@@@@OR 

11, 20, 26 vkSj 50 esa ls izR;sd ls D;k ?kVk;k tk, fd 'ks"kQy 
lekuqikrh gks                   
What should be subtracted from 11, 20, 26 and 50 show that 
the remaining numbers are in proportion? 

¼4¼4¼4¼4½½½½    

iz-18 lehdj.k x2 – 5x – 6 = 0 dks lw= fof/k }kjk gy dhft,A      
Solve the equation x2- 5x – 6 = 0 by formula method.    

vFkokvFkokvFkokvFkok@@@@OR 
lehdj.k 6x2 – x – 2 = 0 ds ewyks dh izÑfr Kkr djksA     
Find the nature of the roots of the equation 6x2 – x – 2 = 0. 

¼4¼4¼4¼4½½½½ 

iz-19 100 ehVj Åaph ,d ehukj dh pksVh vkSj mlds vk/kkj ls ,d pV~Vku dh 
pksVh ds mé;u dks.k Øe’k% 30° o 45° gS] pV~Vku dh Å¡pkbZ Kkr djksA     
The angle of elevation of the top of a rock, from the top and 

foot of a 100 m high tower are 30° and 45° respectively. Find 
the height of the rock.     

vFkokvFkokvFkokvFkok@@@@OR 
,d ehukj ds vk/kkj ls 20 eh- nwj Hkwfe ij fLFkr ,d fcUnq ls ehukj dh 
pksVh dk mé;u dks.k 30° gS] ehukj dh ÅapkbZ Kkr djksA 
( )1.732  3 =              
From a point on a ground 20 m. away from the foot of the 

tower, the angle of elevation is 30°. Find the height of the 

tower. ( )1.732  3 =  

¼4¼4¼4¼4½½½½ 

iz-20 o`r esa pki dh yaEckbZ ,oa f=T; [k.M dk {ks=Qy Kkr dhft,] ftuds 
dsUnzh; dks.k 150° o f=T;k 21 lseh gSA       
Find the length of are and area of sector of the circle, if the 

angle subtended at the centre and the radius are 150° and 21 
cm respectively.      

vFkokvFkokvFkokvFkok@@@@OR 
,d ?kuke dh yackbZ] pkSM+kbZ vkSj ÅapkbZ Øe’k% 12 lseh] 11 lseh vkSj 
10 lseh gS ?kuke dk i`"Bh; {ks=Qy Kkr djksA     
The length, breath and height of a cuboid are 12 cm, 11 cm 
and 10 cm respectively. Find the surface area of the cuboid.   

¼4¼4¼4¼4½½½½ 
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iz-21 ,d 8 lseh O;kl okys /kkrq ds csyu dks fi?kyk dj 12 lseh O;kl okys 
fdrus xksys cuk;s tk ldrs gS\ csyu dh ÅapkbZ 90 lseh gSA      
How many spheres of diameter 12 cm each can be made from 

a metallic cylinder of diameter 8 cm? The height of cylinder is 

90 cm.     
vFkokvFkokvFkokvFkok@@@@OR 

,d 'kadq dh f=T;k 7 lseh vkSj ÅapkbZ 9 lseh gS bldk vk;ru leku 
f=T;k okys ,d nwljs 'kadq ds oØ i"̀B ds cjkcj gS bl 'kadq dh fr;Zd 
ÅapkbZ Kkr djksA                 
The radius of a cone is 7 cm. and its height is 9 cm. The 

volume of this cone is equal to lateral surface numerically of 

another cone which has same radius. Find the slant height of 

the cone.       

¼4¼4¼4¼4½½½½ 

iz-22 xq.ku[k.M dhft, &  
a2(b + c) + b2 (c + a) + c2 (a + b) + 2abc     
Factorise – 

a2(b + c) + b2 (c + a) + c2 (a + b) + 2abc    
vFkokvFkokvFkokvFkok@@@@OR 

3x 

1 3x  - x2

+

+
 esa dkSu lk ifjus; O;atd tksM+k tk, fd 

2 -x 

1  x2 +
izkIr gks 

tk,\     

Which rational expression should be added to 
3x 

1 3x  - x2

+

+
 to  

get 
2 -x 

1  x2 +
? 

¼5¼5¼5¼5½½½½ 

iz-23 
;fn α vkSj β oxZ lehdj.k ax2 + bx + c = 0 ds ewy gks rks 

α

β
  

β

α
+  dk 

eku Kkr djksA   
If α and β are the roots of quadratic equation ax2 + bx + c = 0 

then find the value of 
α

β
  

β

α
+ .    

vFkokvFkokvFkokvFkok@@@@OR 

nks Øekxr izkÑr la[;k, Kkr djks ftuds oxksZ dk ;ksx 313 gSA 
Find two consecutive natural numbers whose squares have 
the sum 313. 

¼5¼5¼5¼5½½½½ 
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iz-24 ,d ?kM+h udn 960 `;k 480 `vkaf’kd Hkqxrku dj 245 `dh nks 
ekfld fd’rks ij nh x;hA fd’r ;kstuk dh C;kt dh nj Kkr djksA      
A watch is sold for `960 cash or for `480 cash down payment 

and two monthly installments of `245 each. Find the rate of 

interest charged under the installment plan.      
vFkokvFkokvFkokvFkok@@@@OR 

2000 `ij 3 o"kZ ds fy, 5% dh okf"kZd nj ls pØo`f) C;kt Kkr 
dhft, rFkk lk/kkj.k C;kt Hkh Kkr djsA     
Find the compound interest and Simple interest for `2000 at 

the rate of 5% per annum interest for 3 years.  

¼5¼5¼5¼5½½½½ 

iz-25 ,d f=Hkqt dh Hkqtk,sa 4 lseh] 6 lseh vkSj 8 lseh gS bldk ifjxr o`Ùk 
[khfp,saA jpuk ds in Hkh fyf[k,A      
Construct a triangle whose sides are 4 cm, 6 cm and 8 cm. 

Draw the circum circle of the triangle. Write the steps of 

construction also.       
vFkokvFkokvFkokvFkok@@@@OR 

f=Hkqt ABC dh jpuk dhft, ftlesa BC = 6.5 lseh] ∠A = 45° vkSj 
ÅapkbZ AD = 5.5 lseh    gSA     
Construct a triangle ABC , in which BC = 6.5 cm, ∠A = 45° 

and altitude AD = 5.5 cm. 

¼5¼5¼5¼5½½½½ 

iz-26 fcuk lkj.kh ds iz;ksx ls fl) dhft, &  

 2  
48 cos

42 sin
  

53cosec 

37sec 
=

°

°
+

°

°      

Prove it without using table - 

 2  
48 cos

42 sin
  

53cosec 

37sec 
=

°

°
+

°

°     

vFkokvFkokvFkokvFkok@@@@OR 

fuEu loZlfedk fl) djks    &&&&        

 
θ cos - 1

θ sin
  

θ sin

θ cos  1
=

+
         

Prove the following identities -  

 
θ cos - 1

θ sin
  

θ sin

θ cos  1
=

+
 

¼5¼5¼5¼5½½½½ 

------------------------------- 
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